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"Tab character encountered; may cause =
problems with the layout rule"
"Configure your editor to replace tabs=

by spaces"

<interactive>:1:1: error:
* Non type-variable argument in the =
constraint: Num (a -> c¢)
(Use FlexibleContexts to permit =

this)
* When checking the inferred type

it (Floating c, =
Num (a -> ¢))

forall c a.
=> a -> c
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add a

Int -> Int -> Int

b =a+ b
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(2,6):
encountered;

Tab character =
may cause problems with =

Warning:

the layout rule
Hint:
replace tabs by spaces

Configure your editor to =

Compilation successful with 1 warning

Warning: Function composition (.) =
immediately followed by number
Hint: "o.2"

insert a space for =

If a Float was meant, write

Otherwise,

readability
Type error in infix application
expression sin . 2
operator .
type (a -> b) -> (¢ -> a)=
-> c¢c ->b
right operand 2
type Int
does not match c -> a
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